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TEIIST 40 3 30 % f@ HCF x LCM #

(A) 12 (B) 120

(C) 1200 ‘ , (D) 40
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General Instructlons

Read the followmg instructions very carefully and strictly follow them :

@)
(ii)
(iii)

(iv)
()
’( vi)

(vit)
(viii)

(ix)

(x)

This question paper contains 38 questions. All questions are compulsory.
This question paper is divided into five Sections — A, B, C, D and E.

In Section A, Questions no. 1to 18 are M. ultzple Choice Questions (M CQs) and
questions number 19 and 20 are Assertion-Reason based questions of 1 mark
each.

S

In Sectioh B, Questions no. 21 to 25 are Very Short Answef (VSA) type
questzons carrying 2 marks each.

In Section C, Questzons no. 26 to 31 are Short Answer (SA) type questions,
carrying 8 marks each.

In Section D, Questwns no. 32 to 35 are Long Answer (LA) type questions
carrying 5 marks each.

In Section E, Questions no. 36 to 38 are case study based questions carrying
4 marks each. Internal choice is provided in 2 marks questions in each
case study. g

There is no overall choice. However, an internal choice has been provided in
2 questions in Section B, 2 questions in Section C, 2 questions in Section D and
3 questions in Section E. ‘ ' [

, - s ‘ 22 e
Draw neat diagrams wherever required. Take 1 = 5 wherever required, if not

stated.

Use of calculator is not allowed.

SECTION A

This section comprises multiple choice questions (MC@s) Of 1 mark each. 20x1=20

1.

HCF x LCM for the numbérs 40 and 30 is :
A 12 T B 120
(C) 1200 D) 40
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3. g WO TW 2kx + 5y = 7, 6x + 5y = 11 1 Hal U e T B,

(A) k=3 B) k%-3
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A) 30° | (B) 45°
©) 60° (D) 90°
7. HEA 424 H A OGS & ;
()  2x53xd B 2x53x2
(C) 23x53 (D) 2%x53
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The roots of the quadratic equation x2 + 3x—10=0 are:
(A) 5,2 B) -5,2
© 5,-2 (D) -5,-2

The pair of linear equations 2kx + 5y = 7 , 6x + by = 11 have a unique

solution, if

(A) k%3 . (B k#-3
‘ 1 § 1
©) k= 3 o ; D k=x- 5

If the mean and mode of a frequency distribution are 28 and 16

respectively, then its median is : ,
A) 22 : (B) 235
(C) 24 : - D) 245

A die is rolled once. What is the probability of getting an odd prime

number ?
1 : 1
(A = B =
A ®). 3
2 3
C R — ) SR
© 3 (D) 1

- If the area of a sector of a circle is -;— of the area of the circle, then the

~central angle of the sector is :
A  30° - (B) 45°
) 60° D 90°

Prime factorisation of 424 is :
(A)  2x53x4 | . B) 2x53x2
©) 23x53 | D) 24x53
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